420

188.54

}

10°

500
J ® ©)
® ®
® ®
\@ ® %
2

CONFIDENTIAL - ALL RIGHTS RESERVED
Reproduction orissue to third parties is not permitted without the written permission of the owner

Project: Version A3 Scale: 135
2X6DGA v.0 Weight (Kg): 13.24
Tolerances (ISO 2768-mK) Drawn | GC ] 10/04/2020
Holes + / Shaft - : 0.2 Check GL 23/06/2020
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 1]
Angle: [<=10 +1°] [10-50 +30'] [50-120 +20] [120-400 +107 = APPR. MDC ' 23/06/2020
Linear: <6 6-30 30-120 120-400 400-1000  1000-2000  2000-4000
+0.1 +0.2 +0.3 +0.5 +0.8 +1.2 +2

é /

Revision: R.O

First Angle Proj.

=-© [

Page 1

8

of 11



3 4 5 é / 8

PRODUCTION COMPONENTS BOM
ITEM NO. PART NAME Part description QTY A
1 2X6DGA_Base Base 2
e 0 2 2X6DGA_Side Side 2
3 2X6DGA_Baffle LF-Baffle 2
4 2X6DGA_WG-Support WG-Support 1 B
5 2X6DGA_WG-Horn WG-Horn Side 2
6 2X6DGA_WG-Horn-2 WG-Horn TopBottom 2
7 2X6DGA_Reflex-1 Reflex 2
8 2X6DGA_Access-Panel Access panel 2
Q 9 2X6DGA_Back Back ] C
10 M4 T-Nuts 28
11 M5 T-Nuts 4
D

' E
CONTRALTO-AUDIO S.R.L 7 o
CONFIDENTIAL - ALL RIGHTS RESERVED \ !
@ e Reproduction or issue to third parties is not permitted without the written permission of the owner :
Projeci: Version A3 Scale: 1:10 Revision: R.0
2X6DGA v.0 Weight (Kg):  13.24
Drawn GC 10/04/2020 First Angle Proj.

Tolerances (ISO 2768-mK)

Holes + / Shaft - : 0.2 Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 #1] 6-

Angle: [<=10 +1°] [10-50 +307 [50-120 +20'] [120-400 +107 | APPR. MDC | 23/06/2020
Linear: <6 630 30-120 120400 4001000  1000-2000 20004000 | o ot o
+0.1 202 +0.3 +0.5 +0.8 12 +2 age = o

3 4 5 é / 8



10x @ 6 THRU ALL c A ¢
I 1 il
%, o o é’f’ (e T 2) I=
o |
p | 5
; ® o ) i ®
& & @ \& qi, ©) :g
1 O T | - 0 -
o A SECTION aa
~ B 480 _
| .
I
D

1. Insert N°10 M4 T-Nut on 6mm holes

CONFIDENTIAL - ALL RIGHTS RESERVED 3‘;’,'
Reproduction or issue to third parties is not permitted without the written permission of the owner K\/{/ E
Project: .. N
XEDGA Version: v.0 A3 Scale: 1:5 Revision: R.O
Part name: Weight (Kg): 1.42 Volume (L): 2.00
2X6DGA_Base Material:
Part description: Birch Plywood 15mm
Base
Tolerances (ISO 2768-mK) Drawn cc 10/04/2020 First Angle Proj.

Holes + / Shaft - : 0.2 Check | GL | 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 0.5] [>6 1] 6—

Angle: [<=10 +1°] [10-50 +30'] [50-120 +20'] [120-400 +10'] = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400  400-1000  1000-2000 20004000 P 3 of 11
£0.1 0.2 +03 +0.5 +0.8 12 +2 agev o

| 2 3 4 S é / 8



L 188.48 J

15

B 420 _
>
<&
CONFIDENTIAL - ALL RIGHTS RESERVED \;
Reproduction orissue to third parties is not permitted without the written permission of the owner K . E

Project: L. s
2ch'> oA Version: v.0 A3 Scale: 1:5 Revision: R.0
Part name: Weight (Kg): 0.57 Volume (L): 0.80
2X6DGA_Side Material:
Part description: Birch Plywood 15mm
Side

D 10/04/202 : i
Tolerances (ISO 2768-mK) rawn cc 0/04/2020 First Angle Proj.

Holes + / Shaft - : 0.2

Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 +1] 6-

Angle: [<=10 +1°] [10-50 +30'] [50-120 +20'] [120-400 +10'] = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400  400-1000  1000-2000 20004000 P 4 of 11
£0.1 0.2 +03 +0.5 +0.8 12 +2 age4 o

é / 8



165.02

5.50

182.70 N B 88.72 N
1
@ S5, @
I | ~—— I
(e 0]
~<
- - - - - - S
| o | —=— |
o\
) q )
1 1
/\Q
AN
3 4x @ 6 THRU ALL
9
o
{ Y [ \
1. Insert N°4 M4 T-Nut on 6mm holes
CONTRALTO-AUDIO S.R.L -
CONFIDENTIAL - ALL RIGHTS RESERVED ) |
Reproduction orissue to third parties is not permitted without the written permission of the owner \ . E
Project: R N
2X¢J‘>DGA Version: v.0 A3 Scale: 1:2 Revision: R.O
Part name: Weight (Kg): 0.10 Volume (L): 0.14
2X6DGA_Baffle Material:
Part description: Birch Plywood 15mm
LF-Baffle
Tolerances (ISO 2768-mK) Drawn cC 10/04/2020 First Angle Proj.
Holes + / Shaft - : 0.2 Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 #1] 6-
Angle: [<=10 +1°] [10-50 +30'] [50-120 +207] [120-400 +107 = APPR. MDC © 23/06/2020
Linear: <6 6-30 30-120 120-400 400-1000 1000-2000 2000-4000 Page 5 of 11
0.1 02 +0.3 +0.5 +0.8 +1.2 +2 9

4 5 é / 8



4x @ 7 THRU ALL

] 1
VO ' VN
- o -D.- -
¢ ¢ S ® ¢
|t—
N
o
O
L
[~——|
l l &60 l l
— —
— Y
15 |
1
1. Insert N°4 M5 T-Nut on 7mm holes
CONTRALTO-AUDIO S.R.L \
CONFIDENTIAL - ALL RIGHTS RESERVED ; T ,
L Reproduction or issue to third parties is not permitted without the written permission of the owner K / E
Project: R .
2X<j$ oA Version: v.0 A3 Scale: 1:2 Revision: R.0
Part name: Weight (Kg): 0.19 Volume (L): 0.27
2X6DGA_WG-Support Material:
Part description: Birch Plywood 15mm
WG-Support
! Tolerances (ISO 2768-mK) Drawn cC 10/04/2020 First Angle Proj.
Holes + / Shaft - : 0.2 Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 1] 6-
Angle: [<=10 +1°] [10-50 +30'] [50-120 +207] [120-400 +107 = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400 400-1000  1000-2000 2000-4000 Page 6 of 11
+0.1 +0.2 +0.3 +0.5 +0.8 1.2 +2 9



1‘\

< A
g 9

)

N

N

To)

~O
B

T~ Y

93-540
—= 450
165.02 _
o 15
C
D
c%‘o cgg

CONFIDENTIAL - ALL RIGHTS RESERVED

CONTRALTO-AUDIO S.R.L | -~
I 0

Reproduction or issue to third parties is not permitted without the written permission of the owner

Project: R N
2X¢J‘>DGA Version:  v.0 A3 Scale: 1:2 Revision: R.0
Part name: Weight (Kg): 0.09 Volume (L): 0.13
2X6DGA_WG-Horn Material:

Part description: Birch Plywood 15mm

WG-Horn Side

Tolerances (ISO 2768-mK) Drawn cc 10/04/2020 First Angle Proj.

Holes + / Shaft - : 0.2 Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 #1] 6-

Angle: [<=10 +1°] [10-50 +30'] [50-120 +20] [120-400 +107 = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400 400-1000  1000-2000  2000-4000 p 7 of 11
+0.1 +0.2 +0.3 +0.5 +0.8 12 +2 age/ ©

3 4 5 é / 8



“ !

o

0 <

% <
N

1
B 114.59 o
= -
6{ ;
<o
- 46.30 _
CONFIDENTIAL - ALL RIGHTS RESERVED i
Reproduction orissue to third parties is not permitted without the written permission of the owner K . E
Project: .. ician.
2XiDGA Version: v.0 A3 Scale: 1:1 Revision: R.0
Part name: Weight (Kg): 0.02 Volume (L): 0.02
2X6DGA_WG-Horn-2 Material:
Part description: Birch Plywood 24mm
WG-Horn TopBottom
D 10/04/202 ¢ i

Tolerances (ISO 2768-mK) rawn cc 0/04/2020 First Angle Proj.

Holes + / Shaft - : 0.2

Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 +1] 6-

Angle: [<=10 +1°] [10-50 +30'] [50-120 +20'] [120-400 +10'] = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400  400-1000  1000-2000 20004000 P 8 of 11
£0.1 0.2 +03 +0.5 +0.8 12 +2 agee o

3 4 S é / 8



130

o
C%\ o Q;o
A
Y
- B
1 D
™
X
o
CONFIDENTIAL - ALL RIGHTS RESERVED i \‘
Y Reproduction or issue to third parties is not permitted without the written permission of the owner K . E
Project: L. S
2ch'> oA Version: v.0 A3 Scale: 1:2 Revision: R.0
Part name: Weight (Kg): 0.15 Volume (L): 0.21
2X6DGA_Reflex-1 Material:
Part description: Birch Plywood 15mm
Reflex
10/04/202 t i
Tolerances (ISO 2768-mK) Drawn cC 0/0472020 First Angle Proj.
Holes + / Shaft - : 0.2 Check GL 23/06/2020 F
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 +1] 6-
Angle: [<=10 +1°] [10-50 +30'] [50-120 +20] [120-400 +107] = APPR. MDC | 23/06/2020
Linear: <6 6-30 30-120 120-400 400-1000 1000-2000 2000-4000 Page 9 of 11
+0.1 +0.2 +0.3 +0.5 +0.8 1.2 *2 9



- 181 _
Y ® D) i
@ (]
o
AN
€] ®
@ ® ®/ ||

10x @ 4.50 THRU ALL
N D 8.96 X 90°

10

||

15

||

Reproduction or issue to third parties is not permitted without the written permission of the owner

Project:

2X6DGA
Part name:

2X6DGA_Access-Panel

Part description:
Access panel

Tolerances (ISO 2768-mK)

Holes + / Shaft - : 0.2
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 *1]

Angle: [<=10 +1°] [10-50 +30'] [50-120 +207 [120-400 +10']

Linear:

<6
+0.1

6-30
0.2

||

CONTRALTO-AUDIO S.R.L

CONFIDENTIAL - ALL RIGHTS RESERVED

30-120
+0.3

é

Version:

v.0

A3

Weight (Kg):

Material:

Birch Plywood

Drawn
Check
APPR.
120-400 400-1000 10
+0.5 +0.8
/

GC

GL

MDC

00-2000
1.2

@ RN
/AR
¢ s/
SECTION s

7 X
0

Scale: 1:5 Revision: R.O
0.43 Volume (L): 0.60
15mm
10/04/2020 First Angle Proj.
23/06/2020 3 é F
23/06/2020
2000-4000
2 Page 100of 11

8



] 2 3
R — i
... ©52
@25
b SECA:TIKSI\II c-C
] 2 3

15

480

1

(950

Reproduction or issue to third parties is not permitted without the written permission of the owner

Project:

99.06

& &

2X6DGA
Part name:

2X6DGA_Back

Part description:

Back

Tolerances (I1SO 2768-mK)

Holes + / Shaft - : 0.2
Chamfer/Fillet/Round: [0.5-3 +0.2] [3-6 +0.5] [>6 1]

Angle: [<=10 +1°] [10-50 +30'] [50-120 +207 [120-400 +10']

Linear:

<6
+0.1

6-30
0.2

CONTRALTO-AUDIO S.R.L

CONFIDENTIAL - ALL RIGHTS RESERVED

30-120
+0.3

é

Version:

120-400
+0.5

v.0

A3

Weight (Kg):

Material:

Birch Plywood

Drawn

Check

400-1000
+0.8

APPR.

GC

GL

MDC

1000-2000

/

1.2

Scale: 1:5 Revision: R.O
0.47 Volume (L): 0.66
15mm
10/04/2020 First Angle Proj.
23/06/2020 3 $ F
23/06/2020
2000-4000
2 Page 110of 11

8



	Front
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Explode
	Drawing View5

	Sheet1
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Section View A-A

	Sheet4
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View16
	Drawing View17

	Sheet5
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22

	Sheet6
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27

	Sheet7
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Sheet8
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36

	Sheet9
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40

	Sheet10
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View44
	Section View B-B

	Sheet11
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Section View C-C


